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WCGadatargb*, XYZxy, and LabC*hgy, in the CIELAB-colour space

WCGadatargb*, XYZxy, and LabC*hgy, in the CIELAB-colour space

Tristimulus values of black and whit‘q;,:o,(},Yw=88,6

rgbyy Ly & by Clyg N *
Ry10055 112 95 1474 ’&_b
Y411093 -20 131 1339 1; R

G401081-165112 199145
C401185-104-17 105189
By 00127 82 -115142305
My10160 125 -58 138334 T50
Ng0000 0 0 0 O
W,111950 0 0 0O

-150
a* =500 [/ Xoss) ) Yoss) *111a)
b* =200 [/ Ypge) - @/ Zngo) ] [22]
gy = [+ +b4°10° [3a]
h,, = atan [b* /a* ] [4a]

Tristimulus values of black and whitéy,=40,3 Yy,=88,6, Yy2=88,6.
rgby Ly &y bYy Clog hahﬂ b*

Ry10077 44 14 47
Y411094 -1040 42 10
G401088 -5930 67 152
C401190 -44-9 45 191
By00171 15 -4043 291
Mg10179 54 -26 60 334
Ng000690 0 0 0
W,111950 0 0 0

a* =500 [/ Xoes) e Yoss) ] [1a]
b* =200 [(v/ YDss) - 12069 [22]
Crop=[a? 4708 [3a]
hg, = atan [b* /a* ] [4a]
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WCGadatargb*, XYZxy, and L*ABCh ag; in L*AB1JND-colour spac
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Tristimulus values of black and whitéy=0,0, Y{4=88,6
rgbg Ly Ag BchemhABJu
Ry10055 83 25 87
Y411093 2 88 88 88
G401081 -8162 102142
C401185 -85-2488 195
By00127 -2 -8888 268
Mg10160 81 -62 102322
Ng0000 0 0 0 O
W,111950 0 0 0
a=an[(x-x)/) +

1 =by 21y -150
=1 by=-04
X = 0,110, B = 1,000
A=256-a,)Y [1c]
B, =258, (b, - b, ) Y [2¢]
Cagr = [A+B]% 3]
hpg1 = atan [B, /A, ] [4c]

Tristimulus values of black and whitéy,=40,3 Yy,=88,6, Yy2=88,6.
b Ly Aug B1uCAB1uhA51n B

Ry10077 45 13 47 1
Y411094 1 48 48 8B
G401088 -4434 56 142
C401190 -46 -13 48 195
By00171 -1 -4848 268
Mg10179 44 -3455 322
N4000690 0 0 0
W,111950 0 0 0
a=ay[(x-x:)/) +

100

1=y 2/ -150
ay=1,by=-04
X, = 0,110, B, = 1,000
A=256-a,)Y [1c]
B, =258, (b, b, )Y 12¢]
Capr =[A7 +BF]%° [3c]

hpgy = atan [B, /A, ] [4c]
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